Pensieve header: Some experiments with capping the buckle in parts.

SetDirectory["C: \\drorbn\\Academn cPensi eve\\ 2012-05\\ beta5. 1" ];
<< betaCal cul us. m
Cl ear [A]; Unprotect [C];
$Per t ur bat i veDegr ee = 8;
BSinplify[expr_1:= Replace[
Seri es[Normal [expr], {&, 0, $PerturbativeDegree}],
sd_SeriesData :» MapAt [Expand, sd, 3]
1
BCol | ect [B[w_, p_1] := B[BSinplify[w], BSinplify[ull;
{VO, CO0, sol} = Get [Switch[$PerturbativeDegree,
4, "Sol utionToDegree4-120523. ',
6, "SolutionToDegree6-120523. ',
8, "Sol utionToDegree8-120524. n'
15
C=C0 /. k1 » 0;

Sinh[ci A /2]

v = B[Series[ , {a, O, $PerturbativeDegree}], O];

crh/2
80 = (I nverse[V0] // dP[12, 3]) *xInverse[VO] »x (VO // dP[2, 3]) »*x (VO // dP[1, 23]);
V=Inverse[C // dP[12]] ** VO x%x (Cxx (C // dP[2]));

&= (Inverse[V] // dP[12, 3]) »xlnverse[V] »% (V // dP[2, 3]) =% (V // dP[1, 23]);
CC=C=*=*C,

Cl ear [C];



2| Some Cap Experiments.nb

Del et eCases[{
"Test" - XXX =Yyyy,
"R4" - R[2, 3] % R[1, 3] #*V = V#x (R[1, 3] // da[l, 1, 2]),
"Twi st EQ" - V#x©[1, 2] == R[1, 2] #+ (V // dP[2, 1]),
"Unitarity" - Vxx (CC // dP[12]) »x (V // dA[1] // dA[2]) = CCxx (CC // dP[2]),
“Vertical FlipForV' -

Vxx (CC // dP[12]) »% (V // dS[1] // dS[2]) = R[1, 2] **CCx% (CC// dP[2]),
"CapEquation"” - ((V=*% (CC// dP[12])) // dcap[l] // dcap[2]) = CCxx (CC// dP[2]),
"VSi desDel ete" -» (V // dn[l]) =B[1, 0] & (V // dn[2]) = B[1, 0],

" CapsAndCups" - CC == (CC// dS[1]),
"Pentagon" - & xx (& // dP[1, 23, 4]) %% (& // dP[2, 3, 4]) =
(8 // dP[12, 3, 4]) %% (8 // dP[1, 2, 34]),
"Posi tiveHexagon" - (e[1, 2, +1] // dP[12, 3]) ==
(8*%x0©[2, 3, +1] »=xIlnverse[& // dP[1, 3, 2]]1 **x©[1, 3, +1] »% (& // dP[3, 1, 2])),
"Negati veHexagon" - (e[l, 2, -1] // dP[12, 3]) ==
(8xx0©[2, 3, -1] x| nverse[& // dP[1, 3, 2]] »x©[1, 3, -1] »% (& // dP[3, 1, 2])),
"Horizontal Fl i pForg" - &=x+ (&8 // dP[3, 2, 1]) == B[1, 0],
“"Vertical FlipForg" - & »x (&8 // dS[1] // dS[2] // dS[3]) = B[1, 0],
"Over handEquati on" -

(8 // daf[1, 0, 1] // dS[21 // dS[3] // dm[0, 3, 01 // dm[1, 2, 1]) = B[1, 0],
"Valuedfv" -» (8 // dS[2] // dm[3, 2, 2] // dm[2, 1, 1]) = v,

"Val ueOf CC' -» CCx%CC==|nverse[v],
"VTopDel ete" -» (V // dS[1] // dm[2, 1, 1]) = R[1, 1, -1/2],
"EKTopCapLeft Puncture" -

(V /7 tn[ll 7/ dm[2, 3, 21 // dS[21 // hm[i, 2, 11) = B[1, 01,
"EKRi ght CupLeftPuncture" -

(V /7 dm[3, 2, 21 7/ hn[2] // tn[l] 7/ dm[1, 2, 1]) = B[1, 0],
"EKRi ght CupTopPuncture" -

(V // dm[3, 2, 21 // hn[2] // dS[1] // dm[2, 1, 1]) = B[1, O],
"EKTopCapRi ght Puncture" -

(V 7/ tnl21 // dm[l, 3, 11 // dS[11 7/ dm[2, 1, 11) =R[1, 1, -1/ 2],
"EKLeft CupRi ght Puncture" -

(V 7/ dm[3, 1, 11 7/ hn[l] // tn[2] // dm[2, 1, 1]) = R[1, 1, 1/2],
"EKLef t CupTopPuncture" - (V // dm[3, 1, 11 // hn[l] // dS[1] // dm[2, 1, 1]) =

R[1, 1, -1/2],
"Buckl eEquati on" - (
buckl e = (I nverse[&] // dP[13, 2, 4]) *=*

(8 // dP[1, 3, 2]) ** @[3, 2] »x |l nverse[&] »* (& // dP[12, 3, 4]);
LuckyV = buckle // tn[l] // hn[2] // dm[l, 2, 1] // tn[3] // hn[4] // dm[3, 4, 2];
V == LuckyV

)

}, _ = True]

{Test - XXX =yyy}

{V // dcap[l] // tn[2],
V // dcap[2] // tn[l1} // ColumForm

1 h[2]
1 cih 1 5.9 1 3,3 cin* c§ nd c§ n® c]na’ c$ n® 9
LI] 5+ 55 + 25 C10%+ 357 CT 1 + 3505 + 26080 * eas120 * 10321020 * 1@5794860 * O]
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CCxx (CC// dP[2]) %I nverse[CC// dP[12]]

l+iC Co 12 4 70?027%0% 7clc§ 4 c3co . ctc3 +23c§c§ N c?ch . c1c3 6, (_ cico B c$c3
24 152 1440 5760 1440 60480 80 640 967 680 80640 60480 2419200 19353
t[1]
t[2]

((Inverse[&] // dP[13, 2, 4]) %= (& // dP[1, 3, 2]) =
e[3, 2] xxInverse[&] »x (& // dP[12, 3, 41)) // tn[l] // hn[2] //
dm[i, 2, 11 // tn(3] // hn(4] // dm[3, 4, 2] // dcap[l] // dcap[2]

1 2 cicy c?c3 c1 c%) 4 ( c3co cfc3 23 c$c3 c?ch c1c3 ) 6 ( cics c$c3
1+54C1C20%+ (- 1000 ~ 5760 ~ 1420 80480 © 80640 © 967680 ' 80640 ' 60480 ) 1* * |~ 2419200 ~ 19353
t[1]
t[2]

((nverse[a] // dP[13, 2, 41)) // tn[l] // hn[2] // dm[1, 2, 1] // tn[3]1 // hn[4] //
dm(3, 4, 2]

1 h[1l]
Coh 7cic 7ci1c3 c3 3lctc 31cics 83 c?c3 13 ¢y ¢} c3 127 cSc 1
t[1] Cant 1C2 163 2 3, 12 1% ic 16 2 7o 4 [ =zeftic2 2
24 5760 5760 1440 967 680 483 840 967 680 241920 60480 154 828 800 51
t[2] c1h 7c3 . 7cicy Lo c3 n3 31c 31cfc, 83cich 13c%c} cqic4 5 127 c] N 12
24 5760 5760 1440 967 680 483 840 967 680 241920 60480 154 828 800 51

((Inverse[&] //dP[13, 2, 41)) // tn[l] // hn[2] // dm[l, 2, 1] // tn[3] // hn[4] //
dm[3, 4, 2] // dcap[l] // dcap[2]

(1)

((2//dP[1, 3, 21)) // tnl[l] 7/ hn[2] // dm[l, 2, 11 // tn[3] // hn[4] // dm[3, 4, 2]
(1)

(013, 21) // tnid1] // hni2y // dm(1, 2, 1] // tn[3] // hn[4] // dm[3, 4, 2]

1 hi2]
1 ci1h 1 2 .2 1 323 ctnt c3 n® c$ nb cln’ c$ n® 9
e o + + + +
t[1] 2 8 48 cih 384 cih 3840 46 080 * 645120 10321920 * 185794560 O[h]

(e[3, 2]1) // tn[l] // hn[2] // dm[1, 2, 1] // tn[3] // hn[4] // dm[3, 4, 2] //
dcap[l] // dcap[2]

(1)

(Inverse[&]) // tn[l] // hn[2]1 // dm[l, 2, 11 // tn[3] // hn{4] // dm[3, 4, 2]

(1)

((2 7/ dP[12, 3, 41)) // tn[l] // hn[2] // dm[l, 2, 11 // tn[3] // hn[4] // dm[3, 4, 2]

1 h[2]
t 1] cah | _cfca cicd o 3 ctco N cic3 +236§C%+ cic4 . c3 5. (. cfce  c3cs
24 1440 5760 1440 60480 80640 967 680 80640 60480 2419200 1935360

"~ 60480 80640 967 680 80640 60480

t[2] - c1h ( c$ ctc, clcg) 53 ( c? ctfca 23c§c3 c?c3 c1c4 ) 5 ( cf c$co

24 1440 ' 5760 ' 1aa0 2419200 ' 1935360

((® //dP[12, 3, 41)) // tn[l]1 // hnl[2] // dm[l, 2, 11 // tn[3] // hn[4] //
dm[3, 4, 2] // dcap[l] // dcap[2]

cic, cich clcg) 4 ( c3cy ctc3 23cics c?cs c1c3 ) 6, ( cica c$c3

1
1+ —CpCoh2+ (-2 _ 212 + + + + - -
24 1440 5760 1440 60480 80640 967 680 80640 60480 2419200 19353
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CCxx (CC// dP[2]) %I nverse[CC// dP[12]]

cic, cich

1 cyc3 cic cfck 23cjc3 c?ch c1c3 cic c$c
1+*C1C2f12+7 _ _ GG a4, iC2 1C32 iC2 1C2 182 ) p6 . (_ 1C2 1C2
24 1440 5760 1440 60480 80 640 967 680 80640 60480 2419200 19353
t[1]
t[2]
& // tn[2] // dm[2, 3, 2] // dcap[2]
14 1 ¢y Co n2 . - cicy B c?c3 _ cyc3 [Ya c3cy ctc3 23cic3 c?ch c1c3 764 |- cica c$c3
24 1440 5760 1440 60480 80640 967 680 80640 60480 2419200 19353
t[1]
t[2]
& // tn[2] // dm[2, 3, 2]
1 h(2]
t[1] Coh cZc, cyc3 c3 #3 ctca cici 23c?c3 cych c3 75 ccy c3c3
=+ [~ - - + +t e - o -
24 1440 5760 1440 60480 80640 967 680 80640 60480 2419200 1935360
ci1h c3 cc cy1c3 c$ ctc 23 c3c3 c?c3 cich c] cfc
t[2] ih i CiC  C1C3) .3 (_ 61 _ CiC2 165 1€ C1C; | 5 1 . 1€2
2 1440 5760 1440 60480 80640 967 680 80640 60480 2419200 1935360



